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Some verbs take an object. They are called “object verbs” or 
transitive verbs.  This means that the action passes from the 
subject or doer to something else. 

Verbs such as “to condemn”, “to highlight”, “to advocate” and 
“to express” are transitive verbs. They must take a grammatical 
object. (They cannot be followed by a preposition.)

“The author expresses the view that the scheme would lead 
to wasted funds.”

Verbs that do not take an object are called “no-object verbs” or 
intransitive verbs.  Intransitive verbs usually show motion or 
location. They do not need an object. This means that no word 
receives the action of the verb; in other words, the action stops 
with the doer. 

Such verbs are often followed by a preposition: 
      “He disagrees with his opponents.”
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A. Indicate whether the (bolded) verb is transitive (t) or intransitive (i).
Mr Xio defends the role of the Climate Change Authority. 

He counsels against the wholesale adoption of a new approach. 

Mr Smith discredits the motives of coal diggers. 

She challenges the view that people will have to rely on public transport.

The spokesperson protests against the introduction of injecting rooms.  

Ms Humphries condemns citizens who refuse to minimise their carbon footprint.

B. Underline the incorrect verb-object combination and rewrite the sentence.
The author condemns that there are people who do not vaccinate their children.
Ms Jeffery highlights with supporters that those who appear to be different will suffer 
discrimination. 
She wants to deter from going to the park.
He reassures that the decision to remove the principal was in the best interests of the school 
community.
She challenges against the Government’s decision to force people to take public transport 
on weekends.
The reference to “weaning” discredits against the junk food industry. 
The experiment shows that we do not contemplate about other innocent species.
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Verbs and objects

Nathan writes: “Ms Duff opposes that the Naplan tests lead to an 
increase in homework.”

The verb, “opposes”, is incorrect because it must have a direct object. 
i.e. one must oppose a view, an idea or a scheme.   
 
Correction: “Ms Duff opposes the view that the Naplan tests lead to 
an increase in homework.”

Underline the 
verb and the 
object. Is it a 
transitive verb? 

If you are unsure, 
look up the  
dictionary. 

Dictionaries 
identify transitive 
verbs as “v.t.”  and 
intransitive verbs 
as “v.i.”

Exercise 41

Typically, your key message in a sentence should be in the: 
subject-verb-object  position. 

The part of the clause (or sentence) that contains the subject of 
the verb is called the subject.  The subject of a sentence is 
always a noun or a pronoun. Generally, you can find the subject 
by asking “who” or “what” before the verb.  

The part of the sentence that contains the verb and the object of 
the verb (if there is one) is called the predicate. Generally, 
you can find the object by asking “whom” or “what” after the 
verb. 

Sally writes: “As an animal lover, who knows that puppies 
are cute, is questioning myself as to whether I am ready to 
own a pet.”

The predicate “is questioning myself” lacks a subject. 

Correction: “As an animal lover, who knows that puppies 
are cute, I am questioning myself as to whether I am ready  
to own a pet.”

Where is the subject? 

Sally writes: “Hence, showing the reader that the senator does not 
take her profession seriously.”

This sentence does not have a grammatical subject. 

Correction: “Hence, the author shows the reader that the senator 
does not take her profession seriously.”

A.  Indicate whether the verb is finite (f) or non-finite (n).  Underline the subject. 
Watching the birds from the top of the trees (...), I decided (...) that it would be more fun  
to fly  (...) with the birds. 

Encouraged by her latest triumph (...), Ms Smith decided (...) to increase (...) her bike-riding 
efforts. 

Weeping from frustration (...), I was (...) so disappointed that my friend failed (...) to win (...) 
the prize. 

Using census data on incomes (...), the study determines (...) Australia’s most liveable city 
.

B.  Identify the clause with the incorrect non-finite verb. Rewrite the sentence.
At 14, the young boy got cancer, and making us feel sympathy. 
Mr Smith condemns the increase of bike riders, and hence producing doubt about the 
Council’s scheme. 
Contrastingly, Nancy accepts the norms of society and facing its reality.
These actions tend to overrule our parents hence needing to break free.
The author shames Mr Davis because failing to create a smoke-free society.
The ambulance’s siren blared loudly whilst practising their football drills.
Therefore, believing she was doing the right thing.
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Non-finite verbs 
may cause gram-
matical problems 
because such verbs 
may not have a 
direct subject. 
Non-finite verbs 
include: present 
participles  
(sharing, doing); 
past participles 
(shared and did) 
and infinitives (to 
help, to share). 
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Exercise 40


